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Next, Antiquity and Anthropology Scientist have given almoat
every idea one could muster up on why Indians of the America's only
had a calendar of only 360 days = year. It was concluded that a 360

day year wasn't bad for some dumb savages

Let put it over here

The Indian had the day broken down inte 181 parts
2L hours divide by 181 =.13259669 times 60=
7.9568N014 minutes times 181=1440,.0001 minutes
divide by 60=24,200002 hours.

7.9558014 min. times 365.240833 (Yr)=2905.7835 min.

2005,7835 divide by&0 divide by 24= 2,0179052 dys.
{The amount of time it takes light from the Sun

to reach Earth for one year.)We call this LICHT

The Earth travels in Orbit at 18.51693 m.p.s

It takes this light 477.34808 sec times 13.51593=
2839.021 miles time 365.240833=3,228 371.4 miles
to takes light to reach Earth in one year.
8839.021 times 180 times 365.2408333=581,106,850
subtract from 584,335,740(Earth's circumferencs)
géggﬂigﬁﬂ divide 365.240833=B8L0_4L409 divide by
We'll £all this time lost through the VELOCITY

of the Earth.

The next part is Dimensional change or man's total
Imaginar{ concept to the speed of LIGHT
8.3333 minutes comes to-

22.665 second is the deference between the Ancients 7
end the civilized calculations for the speed of LIGHT .0958123 days

1.0001606 dys

2.1136538 dys

New, 108 of 22,665 second would or could be sccounted
for, but it comes to .1388388% or 3.1L678L second

per-day comes to- ._3_4ﬂ13%n25_d313
Totals 365.24L083 days

Time lost through LIGHT traveling is 2.0179052 days
Time lost through VELOCITY of the
Earth traveling around the Sun. 1,0001606 days
Time lost through the DIMENSIONAL

CHANGE . 2. 222 gﬁfi davya
5.2408333 days

TIME traveled a2 distance in 380 days that it took
LICHT 365.240833 days to travel the same distance.

We'll -call this: MUSA'S ALPHA HARMONIC. _
We now have the equations to work out an old Ancient TIME THEORY.

THE PRESENT minus THE PAST equals THE FUTURE

Next, Antiquity and Anthropology Scientist have given almost



every idea one could muster up on why Indians of the Amer'ica's only
had a calendar' of only 360 days a year. It was concluded that a 360
day year wasn’t bad for some dumb savages
7~9553U1L» min. times min. 2905.7835 divide divide by 2.0179052 dys. (The amount of time it takes light from the Sun
to reach Earth for one year‘.)We call this LIGHT
1.0001606 dys
The next part is Dimensional change or' man's total
Imaginary concept to the speed of LIGHT
8.3133 minutes comes to- _ 2.1136538 dys
22.665 second is the deference between the Ancients . and the civilized calculations for the speed of LIGHT .0958123 days
Now, 10% of 22.665 second would or could be accounted
Time lost through LIGHT traveling is 2.0179052 days Time lost through VELOCITY of the
Earth traveling around the Sun. 1.0001606 days Time lost through the DIMENSIONAL CHANGE . 2.2227675 days
5.2408333 daifs
TIME traveled a distance in 360 days that it took LIGHT 365.2hO833 days to travel the same distance.
We’ll -Call this: MUSA'S ALPHA HARMONIC.
~ We now have the equations to work out an old Ancient TIME' THEORY.
THE PRESENT minus THE PAST equals THE FUTURE



